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QUESTION 1

Which of the following statements about stored procedure replication is FALSE? 

A. Replication of stored procedures can be initiated at the Replicate dataserver. 

B. A replicated stored procedure is replicated with its parameters to a replicate database. 

C. The function Replication Definition for a stored procedure is defined at the Primary Replication Server. 

D. Replication of a stored procedure from a replicate database requires a RepAgent. 

E. A replicated stored procedure must modify data in order to be replicated. 

Correct Answer: E 

 

QUESTION 2

Which of the following statements describe the behavior of Publications? (Choose 2) 

A. Improve replication performance 

B. Degrade replication performance 

C. May centralize administrative effort 

D. May reduce total administrative effort 

Correct Answer: CD 

 

 

QUESTION 3

What is the maximum number of routes that can exist between a given pair f Replication Servers? 

A. One direct route 

B. Two direct routes 

C. One direct and one indirect 

D. Two direct and one indirect 

E. One direct and one indirect in each direction 

Correct Answer: B 
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QUESTION 4

Which option is used to start Replication Server in standalone mode? 

A. -S 

B. -K 

C. -M 

D. -C 

Correct Answer: C 

 

QUESTION 5

Given the following table and stored procedure: 

create table t (a int) create procedure p @param int as insert t values (@param) 

A Replication Definition exists for table \\'t\\'. Table \\'t\\' and stored procedure \\'p\\' are both marked for replication. What
will be replicated when the following code is executed without errors: 

begin transaction insert t values (100) execute p 101 commit execute p 102 

A. One \\'execute\\' operation is replicated 

B. One \\'insert\\' and one \\'execute\\' operations are replicated 

C. One \\'insert\\' and two \\'execute\\' operations are replicated 

D. Three \\'insert\\' and two \\'execute\\' operations are replicated 

Correct Answer: C 
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